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Instructions for candidates: 

I. This exam relates to Scholastic Aptitude Test. 

2. It consists of questions related to Science, 
Mathematics and Social Science. 

3. Each question carries one mark. All questions 
are compulsory. 

1.

 

f~FU lff44frf 	dIrH1g 	I 

2. 
p4TT gd 	V?fi-f?fl 

3. U 	fPR I Fr-'d URF:RUt U?T I 

4. You have been provided with an answer sheet 	4. 	cJ' fëT W-W i.fr 91ft Q'ii ff? ie•:fl 
(OMR) for this question paper. Darken the 	U IQ.d Are ('H rcTJ 	Tft Qd 
correct option of each question in the answer 	 tcJH' I 
sheet (OMR) with black/blue ball pen. 	

'I 

5 	 ft1 if jT 	t 	T W Hc 	I 
5. Rough work may be done on the blank space 

provided for this purpose. 	 6. ftr i.fffpp WV f~e- -B H ZI (u1.) H91cdI 

6. There is no negative marking in this test. 

7. Do not use white fluid on OM.RAnswer Sheet. 

8. Half an hour extra should be given to visually 
impaired candidates only. 

7. fr . 'br. WTU
. Qi1 	vfta  d8ow .ift  

dtWI 

8. We 0 	cJle 
TftPe1d1' I 



- .. A body is thrown vertically upwards against 
gravity alone with velocity V. The greatest 
height 'h' to which it will rise and time taken 't' to 
attain this height is given by 

	

(1) 	u,2u 	(2) 	u,u 
2g g 	 g g 

	

(3) 	112 	2u 	(4) 	u2 u 
g 	g 	 2gg 

2. What is the equivalent resistance between A and 
B. 

• 	 2Q 

	

A 	 i 	AAAAAi 

If 

(1) 	16 	(2) 	la.. 

(3) 	71 	(4) 	3Q  

3. A lady is standing in front of a magic mirror. She 
finds the image of her head bigger, the middle 
portion of her body of same size and that of legs 
smaller. Which of the following is the correct 
order of combination for the magic mirror from 
the top. 

(1) Plane, Convex, Concave 
(2) Convex, Plane, Concave 
(3) Plane, Concave, Convex 
(4) Concave, Plane, Convex 

4. An electric Kettle consumes 1 KW of electric 
power when operated at 220 V. A fuse wire of 
what rating must be used for it. 

(1) 	IA 	(2) 	2A 

(3) 	5A 	• 	(4) • 4A  

1. ft i' ifu fju ftffi  

Qv1 	 :3tktjd: 97&UITIW't' 

ri 
(1) 	u,2u 	(2) 	u,u 

2g g • g 	g 

(3) (4) u2 u 
g g 2gg 

2. AB Iic'd 	qfdU tcJdI' I 

2Q 

B -'------A--- 

(1) 	16 	 (2) 	1 

(3) 	72 	 (4) 	3 

3. f 	f rPl 	YPN 	1t I I @WE ftr T 

	

1 1i E', R 	Wt1 uTaTur 		1d'1d 

RU f 	t r 	 tIt1 

eUIRF 4T 

fia' ffccj HTh? 

(1) 

(2) 

(3) 

(4) 

4. t7a 1i,1 & 	220V 	wfcr RheT 

Zrtft 1 KW N B A . 
 

t f9i-i 3rff 	fErr 	 'cjlel 

ri 

(1) 	1A 	(2) 	2A 
(3) 	5A 	 (4) 	4A 

- 	 ---•- --• 	 -•------- 	 -. 



I, 

5. A person cannot see obccts distinctly kept 

beyond 2m. This defect can be corrected by the 
which type of the lens and of what power of its. 

(1) Convex Lens ± 0.5 D 
(2) Concave Lens, +0.5 D 
(3) Convex Lens, - 0.2 D 
(4) Concave Lens. - 0.5 D 

6. Action and Reaction according to Newton's third 

law act on. 
(1) Same body in opposite direction. 
(2) Different bodies in same direction. 
(3) Different bodies in opposite direction. 
(4) Same body in same direction 

7. A passenger, in a moving bus tosses a coin which 
falls behind him. It means that motion of the bus 
is: 

(I) 	Uniform 
(2) Accelerated 
(3) Retarded 
(4) Circular motion 

8. A current of 2 amp is drawn by a filament by an 

electric bulb. No. of electrons passing through a 
cross section of the filament in 8 seconds would 
be approximately. 

(I) 	10 	(2) 	1027 

(3) 	1032 	(4) 	1040  

9. The voltage can be written as: 

(I) 	Work done x  charge x  time 
(2) Work done X  time 

Current 
(3) Work done 

Current x  time 
(4) Work done x  charge 

1 0. Tile strength of magnetic field inside a long 
current carrying straight solenoid is 

(1) Minimum ill the middle 
(2) More at the ends than at the centre 
(3) Same at all points 
(4) Found to increase from one end to the 

other. 

5. f) 	if 2m 	 fBvrrT1L In 

	

ftw 	 fll( 

ec 

(1) Qi?r. + 0.5 D 	 ( 

(2) 4rq3F ,+0.5D 

• (3) 	@UF7t -0.2D 

(4) 	 -0.5D 

6. fóQo 	31R ft.ç <irj 'ffr 	12. 

(1) f 	B 

(2) 

(3) r' 	rH& ' fZfB Tf. 
(4) 

7. feBr 	fieV 	1i' 
1i11dIt' 

(1) 

(2) 

(3) 

(4) 

8. ffzr fit4 	fW? 2 Amp 	 I 
8 H fci e fr QTr4 fwz f ftt f 	o zw 
tv 

(1) 	1020 	(2) 	1027 

(3) 1032 	(4) 	1041  

9. 	 fT: 

(1) 110('di1 X  UrdFr  x FW 

(2) x RW 

(3) 
X HH' 

(4) x uraTr 

10. f 	f?'joi H -8 6. N d fj 

(1) 

(2) 

(3) 

(4) 

2 



1 
11. in which of the following situations the distance ii. -- ffu,r' f 	f 	HI 	f 	f 

moved and the magnitude of displacement are - 

• equal? (1) f 
(1) A Pendulum is moving to and fro (2) 
(2) Moon is revolving around the earth . 	- 

WHdId'Q (3) A boy:is  sitting in moving merry go round 
(4) A bus is moving on a straight road. (4 

12. 	Ocean thermal energy is due to: 12. 
(1) Energy stored by waves in the ocean (1) 
(2) Pressure difference at different levels in 

the ocean. 
(2) T)[T ) 

(3) Tides arising out in the ocean  
(3) (4) Temperature difference at different levels 

in the oceans. (4) t1_ 	3 3TUHTT)F 
- 

13. 	The major problem in harnessing nuclear 13. 

• Energyishowto: T fE- -Jf --  

(1) Split nucleus (1) f1c' 	I 

(2) Sustain the reaction (2) faQ 	51 
(3) Dispose off spent fuel safely (3) 
(4) Convert nuclear energy into electrical (4) -w f 

energy 

14. Calculate the number of atoms in 0.2 mole of 14. #9T4fK 0 1 dñe (Nak),) 	0. 2 

Sodium Carbonate (NaCO). 

(1) 7.2264x I033atorns (l) 7.22b4x 10 

(2) 12.044x 102 atoms (2) 12.044x I014W 

(3) 6.022x 1023  atoms (3) 6.022x 10'qw 
(4) 1.505x 102  atoms (4) 1.505x 10 23 14W 

15. Which of the following radioactive isotope is 15. 	 1m1H9'10 

used in the treatment of Cancer? . 

(I) Iodine —131 	. 	
• 

(2) Uranium-235 
(1) vrc10-131 

(3) Sodium —24 (2) fl}{-235 
- 

(4) Cobalt —60 (3) 1P)1W24 

(4)  rs-6O 

16. In the given reaction the oxidizing agent is 	 16. f rf 	flTf 	VHd1o1cJ' 
Br1+2V- 	0,  2Br+L 

	
Br. + 2F —* 2B( rJ, 

(1) 	(Br,) 	(2) 	(I) 
	

(1) 	(Br,) 
	

(2) 	(I) 

(3) 	(Br) 	(4) 	(12) 
	

(3) 	(B() 
	

(4) 	(1) 



17. While cooking, if the bottom of utensil is getting 	17. 1' 	 TIcr 	d6 TUT C08 ,  I W 

blackened on the outside, it means that:- 

(1) the food is not cooked completely (1) 
(2) the fuel is not burning completely 

(2) 
(3) the fuel is wet 

(3) 
- 

(4) the fuel is burning completely 
(4) 

_____ 

18. Which of the following is notbase? 18 .  ffw- f 	1' wTh? 

(I) NaOH 	(2) 	KOH (1) NaOH 	(2) 	KOH 

(3) NI-I, 	(4) 	C,HOH (3) NH, 	(4) 	C,H çOH 

2 

19. When 200 ml of a gas at constant pressure is 
heated from 0 °C to 100°C, the volume must be 
multiplied by:- 

(1) 	0 	(2) 	100 

	

100 	 0 

(3) 	273 	(4) 

	

373 	 273 

20. You are given the following chemical equation:-
Mg(ç) +CuO 6) 	 MgO+Cu. 

This equation represents: 

(I) 	Decomposition and displacement 
reaction. 

(2) Combination and double displacement 
reaction. 

(3) Redox and displacement reaction. 
(4) Double displacement and redox reaction. 

21. A metal 'X' forms a water-soluble salt XNO. 
When an aqueous solution of XNO, is added to 

common salt solution, then a white precipitate of 
compound 'Y' is formed along with sodium 
nitrate solution. Metal 'X' is said to be the best 
conductor of electricity and it does not evolve 
hydrogen when put in dilute hydrochloric acid. 
What is metal 'X', salt XNO, and compound 'Y'? 

(1) Metal 'X' is Silver (Ag), Salt is Silver 

Nitrate and compound 'Y' is Silver 
Chloride. 

19. f* MfW e 	200 f{Z5t f5 

100°C, 3 	 f 	T 

ffdI'c JdI': - 

(1) 0 	 (2) 	t oo  
100 	 0 

(3) 	273 	(4) 
373 	 273 

20. 

Mg(ç) +CuO() 	MgO+Cu.. 

(1) B TU?fTI 

(2) 

(3) I 

(4) UUaT f 1114 1 JPW 4 fd B I cH fffT  I 

21. 	'X' WfUjekik5 	XNO, 'Qe1 

TTF 

Tffr RTF awv )fl 	r.5T l.ri fdIc 'Y' 

wa U 1  t1T'X ,  fi,.i& t 
RtThflT tJ u e5c 

f .  1J, 	 Th 1oce1 I Ura 
'x',xNo'rfdIO1 'Y''r? 

(1) 	 6'1{ 

J1fcjIc'1 'Y' fH5dc5d'f1TI 

El 



(2) tV3 'X' 	 43Th1fPfl){ o 

))frl4Idio( 'Y'41D{cd1 4 II 

(3) ZP73 'X l  ft, 	2 Jf 	IdIc 

(4) 

II 

trr &, 	(2) 	Metal 'X' is Magnesium (Mg), Salt is 
Magnesium Nitrate and compound 'Y' is 
Magnesium Chloride. 

(3) Metal 'X' is Lead (Pb), Salt is Lead Nitrate 
and compound 'Y' is Lead Chloride. 

(4) Metal 'X' is Copper (Cu), Salt is Copper 
Nitrate and compound 'Y' is Copper 
Chloride. 

22. The salt which will give a neutral solution on 
dissolving in water will be:- 

(1) 	CH 3COONa 	(2) 	NH 4C1 
(3) 	KC1 	 (4) 	Na,CO, 

oCT 
23. Which of the following is the correct electronic 

configuration of Nickel with an atomic number 
28? 

(1) -, 1s22s22p43s2-, p
H  id 10 

 

(2) 2-, 	-, 1s22s22p63s ip8  id 10 
 

(3) 2-, 	6 	10 	2 1s22s 22p43s ip -, 3d '04S 
(4) 2-, 	2-, 	6-, 	2-, 	6-, 	8 	2, lsLsLp.spid4s 

22. W fc*j' Ure f 	'HlO 

(1) 	CH 3COONa 	(2) 	NH4C1 
(3) 	KC1 	 (4) 	Na2CO 3  

23. UU ftYW W f6cS fr Ur qw 'AW 28 , ift 

f01óc* 6 dl1t 	dli? 

(1) 1 s22s22p43s 23p83d' °  
(2) 1 s22s22p63s23p83d °  
(3) 1 s22s22p43s23p63d 04s 2  
(4) 1 s22s22p63s23p63d4s2  

24. Which of the following gives the correct 	24. UI? Hc1H'& .i-I'i 	tT Hc1H'& 3'RW Ur  

increasing order of acidic strength? 	 { U5 fjfpfT  f 	fccj' :- 

(1) Water, Acetic acid, Hydrochloric Acid 
	

(1) 
(2) Water, Hydrochloric acid, Acetic acid 

	
(2) 

(3) Acetic acid, Water, Hydrochloric acid 	 (3) 
(4) Hydrochloric acid, Water, Acetic acid 	 (4) 

25. Which of the following metals form an 
amphoteric oxide:- 

(1) 	Na 	 (2) 	Ca 
(3) 	Al 	 (4) 	Cu 

26. A common metal which is highly resistant to 
corrosion is:- 

(1) 	Iron 	 (2) 	Copper 
(3) 	Aluminium 	(4) 	Magnesium  

25. UU fif%pw W fcjl W )N?i MTMTrftW  

ie'Qe1 :- 

(1) 	Na 	 (2) 	Ca 
(3) 	Al 	 (4) 	Cu 

26. f1r){W frlJ1 	Eft q- 

(1) 	JT 	 (2) 	zrrLff  

(3) 	'ffft4n{ 	(4) 	c1hfPHH 

5 



(1)  Peepal leaves 
(2) Hibiscus leaves 
(3) Banana leaves 
(4) Banyan leaves 

-. - - 

(1)  

(2)  UMTFUI 

(3)  14-:g.  

(4) 

27. Mitochondria and Plastids are able to synthesize 	27. w1 6**1 'flu'HIti 	ts ie'Q 
some of their proteins because they have > g Q; 

(1) DNA 	 (1) 
(2) RNA 	

(2) )flT7 
(3) DNA and Ribosomes 	

() (4) RNA and Ribosomes 	
- 	( 4) 

28. Which of the following statement is correct about 	28. 
Cardiac Muscles. 
(1) Cardiac Muscles are uninucleate and 

Unbranched. 
(2) Cardiac Muscles are Multinucleate and 

Unbranched. 
(3) Cardiac Muscles are uninucleate and 

branched. 
(4) Cardiac Muscles are Multinucleate and 

branched. 

29. The correct pathway of blood in circulatory 

system is: 

(1) Auricles —> Ventricles ->Artery ->Veins 
(2) Ventricles ->Auricles ->Veins ->Artery 
(3) Ventricles-> Veins ->Auricles-->Artery 
(4) Auricles —> Artery ->Veins —> Ventricles 

30. Which one of the following is an incorrect match. 

(1) Ovary 	Estrogen 
(2) Pancreas-Insulin 
(3) Pituitary gland ---Adrenaline 
(4) Testis-Testosterone 

31. Concentration of urine, depends on the presence 

of........................ 
(I) Thyroxine 
(2) Testosterone 
(3) ADH (Antidiuretic hormone) 
(4) Melatonin 

32. Which leaves have parallel venation. 

(1) few iJfflT  ft 	nwfi 	jt 

awl 
(2) 3, 
(3) f,96 	f4dc 

(4)  

29. 

(1)  

(2)  

(3) d1c5_>fT_>)d1c5_>t1H?ft 

(4)  

30. 

(2) T_11oo 
(3) fi4tid1-d1oh16 

(4) t - HHfldO 

31. W9U ift UI3T .............. 	 Ioddt? 

(1) 4'uld'c1IH6 

(2) HH1d6 

(3)  

(4) '2foo 

32. NO  



33. Which of the following equation is the summary 

• 	of photosynthesis. 

Chlorophyll 
(1) 6CO2+l2H2OSunlight 	C6H206+.602+61-120 

(2) 6CO2 +12H 2 O 	0.  C 6 1-1 1206 +60+61-1 20 

Chlorophyll 
(3) 6CO2+61-120 

Sunlight 	
CHO5+6O+6H2O 

(4) 6C0. + HO 

	

	 . C H, 0 +60+6H 20 
Sunlight 

34. The breakdown of Pyruvate to give Carbon 
dioxide, water and energy take's place in.......... 

(1) 	Cytoplasm 	(2) 	Mitochondria 
(3) 	Chloroplast 	(4) 	Nucleus 

35. Choose the correct statements. 

(1) The female gamete is called zygote. 
(2) Twins are always Identical. 
(3) Gregor Mendel is the father of Genetics. 
(4) In human beings sex is determine by 

presence of X andY Chromosome 

(1) Statement I and 2 are correct. 
(2) Statement 2 and 3 are correct. 
(3) Statement 3 and 4 are correct. 
(4) Statement I and 4 are correct. 

36. The nature of nerve impulse is............. 

(1) Chemical 
(2) Magnetic 
(3) Electrochemical 
(4) Electromagnetic 

37. Which of the following are called "Amphibians 
ofplant kingdom"? 

(1) 	Bryophytes 	(2) Pteridophytes 
(3) 	Thallophytes 	(4) Gymnosperms  

33. 	ffp {r 4jt W f j i j rg 	rr RTU 

c*d 
(1) 6CO2  + 1 2H 2 O 	o. C Q H 1 06  + 60, + 6ft0 

(2) 6CO 2 + 121-10 	-. C6 1-1, 200 +602 +61-10 

cf 
(3) 6CO 2  + 	 C11206 + 602  + 61-1 20 

(4) 6CO+ ftO 	 C.HO+6O2 +6ftO 

34. U'fcJ 	f'dk 

ff çr 

(1) WJD{ 	(2) H 1 k6d14{T 

(3) 	487 1? 	(4) 	ftcr 

35. Rift 

(1)  

(2) UWffTUU?fl 

(3)  

(4)  

(1)  

(2) BrffN 2 W3 3 Wft tTS I 

(3)  

(4) a-EFF 1 '{S 4 Wft J? I 

36. ?Pr(Nerveimpulse)TThf 

(1) d1'1fec 

(2) iciI 
(3) f1-1 dwIfec( 

(4) 1ftMO 

37. U6 f-ftint  W fag 	 ,*fk& 

frTiT? 

(1) 	1Q'f1' 	(2) 	dla'!k' 

(3) 	'1,' 	(4 ) 	f#HtTRFdK  

TI 
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38. The Centre of sense of smell in brain is: 

(1) 	Mid brain 	(2) Olfactory lobes 
(3) 	Cerebellum 	(4) Cerebrum 

39. A tissue which makes up the husk of coconut and 

whose cells are dead, elongated and lignified is: 

38. 45 

(1) )4ttfWT 	(2) 

(3) 	ld1i{ 	 (4) 	k1''w{ 

39. QU f 	 iQ•  u 'i fg 

'n lignified ThTI................ 4  

(1) 	Chlorenchyma 	(2) 	Collenchyma 
(3) 	Parenchyma 	(4) 	Sclerenchyma 

40. Which of the following is not a part of male 
reproductive system in human being. 

(1) 	Testes 	(2) 	Prostate gland 
(3) 	Vas deferens 	(4) 	Fallopian tube  

(1) 	at docu1).fr 

(3) 4WUFaTtW 

40. 

'& Ur UTT sft? 

(1) 	T 

(3) RBMT _ 1J1  

(2) 	c60( 1 jl1P 
Zk 

(4) 	HdOc( 1 1HT 

Hf f 	1.!1O 

(2) 	qRZ 

(4) 

41. 0, 2 'f 5 	cJd ' f 	it 
f 

)1"6' 1J3T 	ft'ff' jfpr  5 zi 

(1) 	3 	(2) 	1 
4 	 2 

(3) 	1 	. 	(4) 	0 
4 

42.  

(1) 4x2 +7x+1=0 	(2) 4x2+7x+6=0 
(3) 4x2 47x+16=0 	(4) 4x2 -7x+16=0 

43. A.P. pt .W 
A.P.T(pq)*UJdI 1 :_ 

(1) 	1 	(2) 	0 

pq 	 p—q 
(3) 	p+q 	(4) 	pq 

41. Three digit numbers are formed using the digits 
0,2 and 5 without repetition. Find the probability 
that the number is divisible by 5. 

(1) 	3 	(2) 	1 
4 	 2 

(3) 	1 	(.4) 	0 
4 

42. If a and 3 are the roots of the equation 2x 2  - 3x + 4 
= 0, then find the equation whose roots are a 2  and 

(1) 4x2 +7x+l=0 	(2) 4x2+7x+6=0 
(3) 4x2 +7x+16=0 (4) 4x2 -7x+16=0 

' 43. If p term ofanA.P. is- 1  and q fl-term is -LP  
 t 	then 

(pq)th term ofthisA.P. will be. 

(1) 
	

(2) 
	

0 

(3) 	pg - 	(4) 
	

p—g 
p+q 	 pq 

44. If tan ø+ sin ø=' p and tan 0—s ino=q, then p2 —q2  
is equal to:- 
( 1 ) 	4pq 	(2) 

	
4[ 

(3) 	2pq 	(4) 
	

2[ 

45. FUU tan o + sin o = p 'OfU tano — sino=q 

p —qddJdI': 

(1) 	4pq • 	(2) 

(3) 	2pq 	(4) 



45. If mid- point of the line segment joining the 
points A(3,4) and B(k, 6) is P(x, y) and x + y - 10 
=0, then the value of 'k' is. 

(1) 	—7 	(2) 	7 

(3) 	10 	(4) 	13 
3 

46. The average age of a group of eight persons is 
same as it was 3 years ago, when a young member 
is substituted for an old member of the group. 
How many years the new member is younger to 
the outgoing member. 

(1) 	11 years 	(2) 	28 years 

(3) 	16years 	(4) 24years 

47. Ifx+ 
1 

 3 = 2 then value of x 2 + I is 
x 	 x 

(1) 	—1,2 	(2) 	1,2 

(3) 	-I,-2 	(4) 	1,-2 

48. In the given figure, If A, B and C are the three 
points on a circle such that the angles subtended 
by the chords AB and AC at centre '0' are 60 °  and 
100°  respectively, then find the value ofLBAC. 

B 

C 

(1) 	200 	(2) 	500 

(3) 	800 	(4) 	30°  

49. 'A' takes 6 days less than the time taken by 'B' to 
finish a piece of work. If both A and B together 
can finish it in 4 days, find the time taken by 'B' to 
finish the work. 

(1) 	2 days 	 (2) 	12 days 
(3) 6days 	 (4) lOdays 

50. Find the value of:- 
Cos2  (45 0  +0) + Cos2  (45 °  —0) 
tan (60°  +0) tan (300  —0) 

45. 	fi A(3, 4) ){ B(k, 6) 	fi'Qe 
'k' 

Tf 	dI' :- 

(1) 	—7 	 (2) 	7 

(3) 	10 	 (4) 	13 
3 

4 6. 4fW ft  RtfU ftq ffW ff 
U1? H 	fea ff 	td "4 fr rrxr 
mTng Q 	ft , f 	T 	 f HT 

ii 	Hr ffi f 	u f 	MfKK st 
u W Rrz- T  fn 

(1) 11FP (2) 28W 

(3) 16)T' (4) 24W 

47. MoTcT x°+ 	= x+1flfidI':- x 

(1) —1,2 (2) 1,2 

(3) -1,-2 (4) 1,-2 

48. f 	IJd 	 A, B ){ c fjT f, f 
Ii-IHt' 	'o'r, 
AB ' a AC fti 	 600 	100° UT 

LBAC I! 

A 

(1) 	200 	 (2) 	50°  
(3) 	800 	 (4) 	300 

 

49.  

I Rafu A 	B fKF a ftw 	4 f fieq  
'B' ftc*' fiFff thrt 

ftv 

(1) 	2f 	 (2) 	APT  
(3) 	6 f? 	 (4) 	10 f 

Cos2(45 0  + 9)+ Cos 2 (45° —0) 
tan (60(' +0) tan (30 0 -0) 

f 
...6I 

.fT 

rft 

Tr 

A 
C 

(1) 2 (2) ..L (1) 2 (2) 	1 
2 2 

(3) 1 (4) 1 (3) 1 (4) 	1 
3 3 
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(1) a=±'J2,b=l 	(2) 	a= 1,b=2 

(3) a=2, b=±I2 	(4) 	a=1,b=±"i2 

53. RBff sec 0 - tan 0 = 2 UV UTsec o + tan 0 Ur  )ft 

(1) 	1 	 (2) 	j_ 
/2 

(3) 0 (4) _L 
2 

r 

51.In a circle of diameter 40 cm, the length of the 	51. 
chord is 20 cm. Find the length of the minor arc 	I

20 cm I IëJf ff' t *T 5Uf T14' 	i'1 U T  
corresponding to the chord. 	 = 	 57 

. I. 

(1) 	Zz. 	 (2) 	207r (1) 	27r 	 (2) 	20it 

(3) 	lOn 	 (4) 	l On 	
3 	 3 

(3) 	iQz 	 (4) 	io 
3 

52. If the roots of the polynomial x' -  3x2  +x +I are  
(a—b),a and (a+ b) then find the values of'a' and 	 49 d 	'fl(a+b) 

'a' W3 'b' UT fi 1J3'I 

(1) 	a=±I2,b=1 	(2) 	a= 1,b=2 

(3) 	a=2, b=±I2 	(4) 	a=l,b=±"/2 

53. If sec 0 - tan 0 =2, then the value of sec 0 + tan 0 

will be equals to (Where 0 is an acute angle). 

(1) 	1 	 (2) j_ 

(3) 	0 	 (4) 	j__ 
2 

54. Two dices are thrown together, find the 
probability that sum of numbers of both up sides 
of both dices is a perfect cube. 

(1)' 	6 	(2) 	7 
36 	 36 

(3) 	0 	 (4) 	5 
36 

55. 'B' speaks truth in 75% cases and 'A' speaks truth 
in 80% cases. Find the probability that they 
contradict each other in a statement is:- 

56. Ashok, tJsha, Rani and Sonu have to give 
speeches in a class. In how many different ways, 
the teacher can arrange the order of their 
presentation. 

(1) 	4 	 (2) 	12 

(3) 	256 	 (4) 	24  

54. V UT3T foic 	 i " o' 14T 	f 

(1) 	6 	 (2) 	7 
36 	 36 

(3) 	__Q_. 	(4) 	5 
36 

55. 75% {f'f WU 'B' "K94 80% Hfi'V f 	'A' 

I o l  UI 

(1) 	'13 	 (2) 	3 
20 	 5 

(3) 	2 	 (4) 	L 
5 	 20 

56. BT, 	 oi 'H feu uTmE e' t 
ffmru Qio I Iic* 'dl 

'Hcit' 

(1) 	4 	 (2) 	12 

(3) 	256 	 (4) 	24 

( 1 ) 13 (2) 
20 5 

(3) (4) _7_ 
5 20 
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57. For any A ABC, find the value ofC OS ' 	*iABCCos (A+B+C) 2 2 

(1) 	1 	 (2) 	1 
(1) 	1 	 (2) 	1 2 

2 (3) 	3 	 (4) 	0 
(3) 	3 	 (4) 	0 2 

2 

b) 2+5- 
2+ 	1 

34 

____ 
58. 	

- 
_____ 	= 
_____ 

58. 	If 	 x then find the value of'x' 
2+ 1  

3+_1  
2+ 	1 

l+* 
3 +1i 

(1) 	1 	 (2) 
7 	 7 

(1) 	1 	 (2) 
7 	 7 (3) 	1 	 (4) 

7 
(3) 	1 	 (4) 

7 59 	f 	 tVS mrw 246.4 fz 	i 

1Q'1 412- #W' 
59. The capacity of a cylindrical tank is 246.4 litres. 

If the height of tank is 4 metres, then what is 
diameter of its base? 

(1) 	1.4fIZ 	 (2) 	2.8117 
(1) 	1.4m 	 (2) 	2.8m (3) 	14)-17 	 (4) 	28)4tZ 
(3) 	14m 	 (4) 	28m 

60. If the area of a squared field is 69696 cm 2 . Then 60. 	 69696(}ff.) 2  

what is the length of its diagonal. lr# Icdc 	t'1 	tfl? 

(1) 	313.296cm 	(2) 	353.2963cm 
(1) 	313.296?frZ 	(2)353,296)?1Z 

(3) 	373.296cm 	(4) 	393.296cm 
(3) 	373.296'&flZ 	(4)393.296)ft? 

61. Aus, Aman and Boro, grown thrice in a year are 61. , n.r?i 	fThw UFFT W fr 
the types of 	crop. fm.t Th r f HTK Wq f 	dl tFNT  

(I) 	Maize 	 (2) 	Rice 
(3) 	Millets 	 (4) 	Wheat (1) 	Ht 	 (2) 	S' 

(3) 	EPWTr 	 (4) 

62. Which type of soil is also known as 'Regur Soil'? 62. 

(I) BlackSoil 	 (2) 	Red Soil (1) 	fit 	(2) 	FW 6M 

(3) Sandy Soil 	 (4) Yellow Soil 

Now- V. 

11 
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63. The first cement plant of India was established at: 

(1) 	Mumbai 	(2) 	Ahmadabad 
(3) 	Madurai 	(4) 	Chennai 

64. In which state the 'Kaziranga Sanctuary' is 
situated? 

(1) Jammu & Kashmir (2) Assam 
(3) 	Haryana 	 (4) Kerala 

65. What is the population density of India as per th 
census 2011? 

(1) 382 person per sq. kilometer 
(2) 482 person per sq. kilometer 
(3) 582 person per sq. kilometer 
(4) 682 person per sq. kilometer 

66. 'Konkan Railways' stretches along the 

(1) Northernplains (2) East coast 
(3) West coast 	(4) Great Indian desert 

67. Which sea existed at the place of the present 
Himalayas? 

(1) 	Arctic 	(2) 	Tethys 
(3) 	Alps 	 (4) 	Andes 

68. Which of the following is the main tree of 
Tropical Evergreen vegetation? 

(1) 	Coconut 	(2) 	Accecia 
(3) 	Silver Fur 	(4) 	Mahogany 

69. Which river is called 'sorrow' of West Bengal? 

(1) 	Narmada river 	(2) 	Tapi river 
(3) 	Damodar river 	(4) 	Indus river 

70. On which tree the Silkworms -are reared? 

(1) 	Tahli 	 (2) 	Accecia 
(3) 	Mulberry 	(4) 	Mango 

71. Which place is known as 'Silicon Valley' of India? 

(1) 	Bangaluru 	(2) 	Mumbai 
(3) 	Ahmedabad 	(4) 	Nagpur  

63. 	rtfr 	 7 

(1);-Mt 	 (2) 	WftKeTwV  

(3) 	)1tci'f 	 (4) 	o'1 

64. '3('t1lJcjI' 	 tfif? 

(1) 	fEnft 	(2) 	'w-r 

(3) 	yfir 	 (4) 

65. Erg 2011 ift 9676' I6H'd 	t 1S)!iftPP 

urf?. 

(1) 382?' 	 rfi.ffz 

(2) 482ff trf-ff?a 

(3) 582? 1S11 	rf-fz 

(4) 682? 	trf-ffz 

66. 	 f~ ,Jmi f 	f T#-?f'1 amft 

(1) Q'd1 TS 	(2) 	1J9t 3? 
(3) 14g).ftr 	(4) 	 HT=UITE  

67. f wf9r t4d' 	3 	T Ja Ic(cJ' 
WTTFff? 

(1) 	'i'dc*f.c'1 	 (2) 	Mi1. 

(3) 	451J 	 (4) 	'tF1 

68. 'QH ?PJ' 

(1) 	?f3 	 (2) 	Ic*c*d 

(3) 	IHi 9U 	(4) 	)kidIol 

69. 

(1) Fumvr  St 	 (2) 	3rLft  Fit 
(3) 	e  -e d  Fift 	(4) 	r?t 

70. Br f iRT? 

(1) 	c'i& 	 (2) 	al d  

(3) 	HfJ3 	 (4) 	);f .  

71. 

(1) Wawa 	 (2) 	r9t 
(3) ,,fXTEr 	 (4) 
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fl. Who made the law for the security of forests in 	72. 

1855A.D. ? 

1 (1) Lord Dalhousie (2) LordCornwahs 

	

? 	 J 	Liax 	('V) 

/ 73. 'Safrej Movement' was related to which category 

I 	of the society? 

(I) 	Children 	(2) 	Women 

	

pr 	(3) 	Men 	 (4) 	Old people 

74. Which Sikh Guru Sahib compiled 'Jap Sahib'? 

(1) Shri Guru Nanak Devji 
(2) Shri Guru Hargobind Raiji 
(3) Shri Guru Gobind Singhji 
(4) Shri Guru Teg Bahadurj i 

75. When did 'The treaty ofBhairowal' take place? 

(1) 24Dec.1846A.D. 
(2) 25 Dec. 1846 A.D. 
(3) 26 Dec. 1846A.D. 
(4) 27 Dec. 1846A.D. 

76. When did Vietnam become a United Country? 

(1) l5thApril 1974A.D. 
(2) 30thApril 1975A.D. 
(3) 30thApril 1973A.D. 
(4) l5thApril 1976A.D. 

77. Karl Marx was against: 

(1) 	Democracy 	(2) 	Capitalism 
(3) 	Communism 	(4) 	Socialism 

78. Who was 'Giuseppe Mazzini'?  

(I) An Italian Economist 
(2) A German Nationalist 
(3) A German Professor 
(4) An Italian Nationalist 

79. Which among the following cities is hub of the 
new print culture. 

(1) Hong Kong 	(2) 	Tokyo 
(3) Shanghai 	(4) 	Chicago 

(1) 	'daIScJt) 	(2) 	'dcdá'IH 

(3) FrdV f1? 	(4) 	'dt1& 

73. 'Hi6 fTi1uff? 

(1) (2) 	WTST 

(3) YB 	 (4) 	Ntiddif 

74. 

(1) o'ocff 
dil 

(3)  ffi!rurjft 
(4)  T'tfdft 

75. ''fttft'Ut? 

(1) 24d1846t. 
(2) 25e1d 1846t. 

(3) 26eid1846t. 
(4) 27id1846t. 

76. 	 i 

(1) 15)41974. 

(2) 30 )flQ1975t. 

(3) 30W1973t. 

(4) 15)HQ1976t. 

77. 

(1) 	dV 	(2) 	1''e 
(3) RTT1T 	 (4) m{5r 

78. 1dIIHft1'ti1o1'ff? 

(1) Ild1H'Hd1 

(2)  

(3) RUHW UTqr 
(4) - I 

79. 

(1) 	cJ'dIC('dJ 	 (2) 	ZBM,  
(3) 	fIu1T 	(4) 	f}'di 

13 



80; Which is the best literary work ofPrem Chand? 

(1) Do Bigha Zameen 	(2) Godan 
(3) Anand Math 	(4) Sewa Sadan 

81. Who formed 'Young Italy' a secret society? 

(1) Bismarck (2) Wilhelm Wolff 
(3) Mazzini (4) Metternich 

82. Which of the following is the Presidency city- 

(1) Luckhnow (2) Delhi 
(3) Bombay (4) Ahmedabad 

83. Under which Article 'Untouchability' is abolished 
and its practice is punishable? 

(1) Article— 15 	(2) 	Article— 17 
(3) Article— 16 	(4) 	Article— 19 

84. An individual who is not a member of either 
house of parliament, can be appointed a member 
of council of Ministers, but he has to become a 
member ofeither house within a period of......... 

(1) 	one month 	(2) 	3 months 
(3) 	1 year 	(4) 	6 months 

85. Who is regarded as the supreme commander of 
the defence forces in India? 
(1) President 
(2) Prime Minister 
(3) Defence Minister 
(4) Chiefofdefence forccs. 

86. Which of the following institutions is not apart of 

the 'Rural'JocaJseJfGovemmeflt9 
(1) Nagar Panchayat 
(2) 'Panchayat 
(3) PanchayatSamiti 
(4) Zila Parishad 

87. How many members are elected from Punjab in 
Lok Sabha? 

(1) 	7 	 (2) 	13 
(3) 	21 	 (4) 	17  

80.  

1 	fwnTh 	(2) i'o 
(3) 197")V W 	 (4) 	T)1 

81.  

(1) fw 	 (2) ffr VFU 
(3) w,i'o1 	 (4) A 2, d 1a'i 

82.  

(1) 	Z51 6 	 (2) 	f 
(3) 	!1t 	 (4) 	))fftfl.frr 

83. c ' óV39 Wt i ft, 	' fw 
HILPóo( W 	 fTWHct 1 ? 

(1) ITT-15 	(2) 	We'- 17 

(3) W'-16 	(4) 	tTT-19 

84. TT Uq 

'fcf TF fee FWK au fT 

r1R (B 	) 
Ilt ? 

(1) 	fHT 
	

(2) 3.r• 
(3) 	1JT'5 
	

(4) 6Hft 

85. f 	iR ( 
i  ) T J){ d BTFT )ff9fr 

(1) 	rziit 	 (2) trtrr?cc 
(3) ef44Fçf3t 	 (4) R77J)( 

86. u5u ftP47Wt .4Th4i W tJft R fT ' - ' 

(1) 	?1'f 	 (2) ii'f 
(3) 	f)){t 	(4) f T14B - 

87.  

(1) 	7 	 (2) 13 

(3) 	21 	 (4) 17 

IA 	 S 
t-t 



(1)  24fR11945 

(2)  261?1945 

(3)  101diH3 1939 

(4)  24fL31954 

90. 

(1) jf 	i-t kid 

(2)  

(3) HdJd'TU 

(4) 3T. dTUW 

91. 

" ftcjó' fH 	I 	U' 5' 	T5 gwt .1 FTF  

fH R WRIJ"t 

(1) HTWTft 

(2) T)flTf) 

(3) HuH'HdI 

(4) UfHJd 	sfr3 

92. R 9 91 H1l4'o 1,P' IT fiitcr  1HH'' f 
IcJl f Hi1? 

(1) ii -fu iot  H P 

(2) 'VHft 

(3)  

(4) dft9W1JTft5c T  

93. 

(1) TrjfJ 

(2) - 

(3) THS :. 	Jl3T 

(4) 9 ut& W)4? ± 

88 . Under which Fundamental Right in Indian 
('onstitution 'Right to tree and compulsory 
kducat ion' has been iven ? 

(1) Under - Right to equality 
(2) Under - Right against exploitation 
(3) Under— Right to Religious Freedom 
(4) Under--  Right to Freedom 

9. When was the charter of United Nation 

organization, accepted b' 5 1 countries? 

24th October 1945 
(2) 26th June 1945 
(3) 10th August 1939 
(4) 24th April 1954 

90. Who was the President of COnstitucilt í\ssemblV 

of lndii? 

	

I ) 	Pt. Jawahar Lal Nehru 
(2) Dr. B.R. Ambedkar 
(3) Sardar Vallabha bhai Patel 

I2P' 	(4) 	Dr. Rajendra Prasad. 

91. Who has said these words regarding the 

'Panchshecl' principles, "By Implementing these 

Principles, there will he I)e1'maflent world peace". 

	

I ) 	Mahatma Gandhi 
Thfr 	 (2) 	Dr. B.R.Anihedkar 

	

(3) 	Shri La! l3ahadur Shastri 

	

(4) 	Pandit Jawahar Lal Nehru 

92. Which of the following 1atures is not a federal 
feature oH ndian constjtution? 

	

(I) 	Supremacy of the constitution 
(2) Distribution of powers between centre 

and states. 
(3) Appointment of Governors by president 

of India 
(4) Independent Judiciary. 

93. Which of the following is the correct equation 

(1) Savings = Income + Consumption 
(2) Savings=Consumption— Income 
(3) Income = Savings + Consumption 
(4) Consumption = Income + Savings 
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88. 'H 	 ftfv11uc'd'g'Hfu'' ' 

fj 	fTj wqTT grKF t3r fjpçr'? 

	

1) 	RHTTJ1Uc'1Id )fltft 
(2) TT Mfl U—CxTa )3{ffi' 

(3)  

(4) 11t4c'd )fltft?T 

89. 51 W iet Hi 	d'Hd 	''dd we H1'd 



94. Which group belongs to all direct taxes? 
	

94. 	 1 

(1) Income tax, Gift tax, Sale tax 
(2) Income tax, Wealth tax, Sale tax 
(3) Gift tax, Wealth tax, Sale tax 
(4) Income tax, Gift tax, Wealth tax 

95. Which is the Central Bank of India? 

(1) SBI 	 (2) 	RBI 
(3) HDFC 	 (4) 	ICICI 

96. In which sector, natural sources are used for 

production? 

(1) Service Sector 	(2) Secondary Sector 
(3) Primary Sector 	(4) Financial Sector 

97. Monetary Policy has one component of policy 

(1) Bank Rate (Interest) 
(2) Public Income 
(3) Public Works 
(4) Deficit Financing 

98. MGNREGA 2005 was initiated with the aim to 

provide 

(I) 	Employment 
(2) Health Facilities 
(3) Education Facilities 
(4) Irrigation Facilities 

99. Which service is not related to the basic 

infrastructure. 

(2) 
(3) 
(4) flTH, 91T, tr Zff 

95.  

(1) W9. lit. )P 	(2) )77U. M{t. 
(3) 	 (4) WrEtt.MTEk wrift  

96.  

J'3 

(1) FF4T V3U 	(2) 	UrZ7 3r 
(3) 	 (4) 

97.  

(1) 	f1'r 	 (2) 	Hdi16P) 

(3) Hd1.r6}f 	(4) 	UPfIH' 

98. 3137  (MGNREGA) 2005 fr 	r FrF 

T1T ficr? 

(1) dtdI'd 

(2) IN T.3 H5' 

(3) ftMrWHTjO1tP 

(4) rH'1H 

99 

iu 	fr? 

(1) Communication 	(2) Education 
(3) Irrigation 	(4) Banking 

100. What is the effect of unfavourable balance of 
trade on Foreign Exchange Reserves? 

(1) Itreduces 
(2) Itjncreases 
(3) No effect 
(4) It remains same  

(1) 	A Id-rd 	 (2) 	fffpjT 

(4) 	fc(JI 

100. U31 OI 	4T 	 ffl HT 

(1) ffi'Q1 
(2) VrErr T  

(3) T Th 
(4) )TXdI 


